a=-1,b=292 ", -3a+ 6b-3(b+ 2a) = Atstoiet.

>R
=%



2. y=-2x-3<¢ W, 3x—y-55 x o T3t AOZ Lfelfjoizt.
B



6x3 6ny%}:o

" 2x3 + 3x2y

Totofet (& x#0)






2x—y 1 oo 2 2 ° =
== Sx+y+3E Tk Ao g vehfH b
il 3 i S¥H gyt Syl A UERHH ay +

olt}. 9a+ b 9] Z& Falolat,

YR
=¥




6. 2x+y=3°lLa=9° b=3 & ab o F& T}l



7. bBx-2y=—-4dx+y-3< M, 5x-2y+5E xof TSt Aoz L}ehy
o=},

B
=¥



a+b

of gre Ftelet.



9.

a+b+c=09% o, oF 29 g

9

b+c b
+c+a+ +a
a b c

@ 1




3x3 4 3y% + 323
XyzZ

10. x:y:z=2:3:5¢4 0, O = Fstofet,

s
=¥



